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The Code No. on the top of the question paper should be written by the candidate
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC @ [ 9797 §U T 7el 8, YT F YU 59
T 7 g o qar w&hHe T8 RAr Aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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(i) 5 Fo7-07 7 %7 39 97 & [ @Iv @vel - ‘&, T, W, 7@ T 7 qer 7 8

(i) @S - & 7 797 q&g 1 @ 30 TF FGRFHT J97 &1 HA%F F9T 1 F #H 8
FelaBed J97] % TV Gl [4ey ] diory

(iii) @Y€ - § 7 797 G&q 31 § 33 T HITY FTUT J97 &1 F9% F97 2 ST #T &
(iv) @8 - | 7 §97 7&7 34 § 36 TF FaT Jo7 &1 JA% 597 3 STH H &1
(v) @98 - T & 797 T 37 G 39 TF ¥ FTNT F97 &1 FAF FIT 5 SH T 8

i) @9 F97 sHarT &

(vii) 5 o7#l art & &9 AT Fe (797 q@qr 37 9 39) 7 SaRE 97 JaTT 5 T
&1 08 gel gl /9 7 7T § § %9 @ & Jo7 FA 8

General Instructions :

(i) This question-paper consists of 39 questions in total, which are divided into

four Sections :'A', 'B', 'C', and 'D".

(i) Question Nos. 1 to 30 of Section - A are multiple choice questions. Each
question carries 1 mark. Answer the multiple choice questions by selecting

correct option.

(iii) Question Nos. 31 to 33 of Section - B are Very Short Answer Type Questions.

Each question carries 2 marks.
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(iv) Question Nos. 34 to 36 of Section — C are Short Answer Type Questions.

Each question carries 3 marks.

(v) Question Nos. 37 to 39 of Section — D are Long Answer Type Questions. Each

question carries 5 marks.
(vi) All questions are compulsory.

(vii) Internal choice has been provided in two long answer type questions
(Question Nos. 37 & 39) of 5 marks. You have to attempt only one of the
given choice in such questions.

qug -
SECTION-A

(Multiple Choice Questions)

(vgfecda )

1. TF HR F NSHC T AN & ? 1
(&) Fa =1 (B) R P @
(C) R @R =l gl (D) SN H q B Wl
What does the Odometer of a car measures ?
(A) Only Speed (B) Acceleration of the car
(C) Distance covered by the car (D) None of the above
2. - AE & A & & § AA T A F:T B 6 7 1
A) g (B) faemas
(C) (D) @«
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What is the quantity which is measured by the area occupied below the

velocity-time graph ?
(A) Time (B) Displacement
(C) Velocity (D) Acceleration
3. awgell a1 Tl W & orEwd ¥ Racd & RRig FA H g 1 FHeard o ? 1
(A)  Sted (B) s
(C) wam (D) dfea T

The natural tendency of objects to resist a change in their state of rest or of

uniform motion is called :

(A) Inertia (B) Force
(C) Momentum (D) Balanced force
4. TAH S. 1. AFF © : 1
(A) e
(B) g Wi Hebvs
(©) AR
(D) g " HieX

The S. I. unit of force is :
(A) Newton

(B) Newton per second
(C) Newton-Meter

(D) Newton/Meter
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(A)

(€)

Weight of a body on Moon is

(A)

(€)

gedt TR T TN AT Jo@NT a6 HEAT ¢

(A) =TS (B)
(C) TdT I (D)
Force of gravitation due to the earth is called :
(A) Density (B)
(C) Gravity (D)

F=1 & 9 980 3¢ a7 fBRE TR @ eI erdl © 7

1

3

1
6

1
3

1
6

(A) Rafos =it
(B) faggd wi
(C) THEHIT FHofi
(D) et ot

(5)

(D)

of its weight on earth.

(B)

(D)

1
3
4

EiC
onE

Pressure
Thrust

Which form of energy does the flowing water possess ?

(
(
(
(

Z

B
C
D

)
)
)

Potential Energy
Electrical Energy
Gravitational Energy

Kinetic Energy
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11.
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(6)
=1 & 9 g oreom § @Y 999 A9 T 8 °

(A) e (B) g

(C) v (D) IR |1

In which of the media, does sound travel the fastest ?

(A) Iron (B) Air

(C) Water (D) All of the above
i T A AN AR A A B G R Fe ¥

() ™ (B) ATt

(C) TwREH (D) STEde

The number of complete oscillations per unit time is called .............. .
(A) Amplitude (B) Frequency

(C) Wavelength (D) Time period

100°C G99 9% STt @l A 1w 8 ¢

(A) 3™ (B) =4

) g (D) &G @1 9 I
The state of water at 100°C is :

(A) Solid (B) Liquid

(C) Gas (D) Both liquid & gas

frfefaa & 4 9-9 Taret # ?
(A)  FHEt (B) &M

9

(C) ag (D) SWEd g«
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13.

14.
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(7)

Which of the following are matter ?
(A) Chair (B) Almonds

(C) Air (D) All of the above

fr=foifeg & @ a9 e 9@ @ Y&i(did & ?

(A) 9% & oA (B) H

(C) & e (D) &= o

Which of the following will show '"Tyndall effect' ?

(A) Salt Solution (B) Milk

(C) Starch Solution (D) Soda Water
R W T g B B A S

(A) TSR (B) STIHET

(C) ST (D) RS

The technique to separate butter from curd is :

(A) Evaporation (B) Centrifugation
(C) Sublimation (D) Chromatography
IRIT H WS ©

(A) B (B) Be

(C) Bm (D) Ba

What is the symbol of element Barium ?
(A) B (B) Be

(C) Bm (D) Ba
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16.

17.

18.
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SIS BT AT FSHH ©

(A) 12 (B)
(C) 16 (D)
Atomic mass of Oxygen is :

A) 12 (B)
(C) 16 (D)
1 Aot (e gere &) = .o (e )i

(A) 6.022 (B)
(C) 6.022 x 10% (D)
1 mole (of anything) = .............. (in number).
(A) 6.022 (B)
(C) 6.022 x 10% (D)
TRHT % SAIEIGE B E

(A) U (B)
(C) T (D)
The sub-atomic particles of an atom are :

(A) Protons (B)
(C) Electrons (D)

PR B @7 B 7
(a) e gh
(C) e

(B)

(D)

14

23

14

23

6.002 x 102

6.002 x 1032

6.002 x 102

6.002 x 1032

Y

e
ST gt

Neutrons

All of the above

e e

Ho G
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19.

20.

21.
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Who discovered cells ?
(A) Robert Hooke (B) Robert Brown

(C) Leeuwenhoek (D) T. Schwann

HIAHT F X N PN AT Hel Bl & 7

() ESrEm H (B) wgerpgar &
(C) wiies (D) T & HE T
Where are proteins synthesized inside the cell ?

(A) In Ribosomes (B) In Mitochondria
(C) In Plastids (D) None of these

I b P AW Sql S BAR IR 7 i @ fore Saver ®

(A) TR Sah
(B) WRhEH

(C) uueifera™ Ixeieh
(D) UsiT S

Which tissue is responsible for movement in our body ?
(A) Nervous Tissue

(B) Parenchyma

(C) Epithelium Tissue

(D) Muscle Tissue

aMeET S ®
(A) e B) for=g
(C) dafE (D) &REE e
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23.

24.
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Arthropoda animal is :
(A) Ostrich

(C) Chameleon

QIBT Y B
(a) wiga
(C) &% I Siaard

The meaning of Porifera is :

(A) Reptiles

(C) Organisms with holes

TWRES H ged Bl © ¢

(A) f&-wea

(C) TR-FEA

The heart of Crocodile is :
(A) Two-Chambered

(C) Four-Chambered

HepTes T SheAdl B
(A) S g

-

(C) TETE® el FAR]

Infectious disease spread by :

(A) Water

(C) Vector Insects

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

Scorpion

Sea horse

SR
3 K IR B

Amphibians

Stream lined

H-hefi g
SYUFT H Hlg &

Three-Chambered

None of the above

qrg a4

A

S G % N

Air

All of the above
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25. AIDS # FRF ? : 1
(A) Ty (B) famry
(C) serfien (D)
AIDS is caused by :
(A) Bacteria (B) Virus
(C) Protozoa (D) Fungus
26. AR qgHSA & Fha GRSk AR ARgeH 4§ 7 1
(A)  70% B) 78%
(C) 50% (D) 20%

What is the percentage of Nitrogen gas in our atmosphere ?

(&) 70% (B) 78%
(C) 50% (D) 20%

27. frafafed § & f6ed Fee q@r o § ? 1
(A) M (B) FEEERH
(C) dur (D) WS |l
In which of the following Carbon is present ?
(A) Protein (B) Carbohydrates
(C) Lipid (D) All of the above

28. frer ¥ & B A eE N R 7 1
(A)  TRgISH (B) SifeivH
(C) FEN TEAFIES (D) S @h
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Which of the following is a 'green house gas' ?
(A) Nitrogen (B) Oxygen

(C) Carbon dioxide (D) All of the above
Fe= & | fped Siée o el ?

(A) S (B) =

(C) AR (D) ST |1
Which of these is enriched in protein ?

(A) Black gram

(B) Gram

(C) Peas

(D) All of the above

Fr=1 & | d9-91 A T @ T g 7

(A) s R (B) &3 Rad
(C) R (D) e

Which of the following is Indian cow breed ?

(A) Red Sindhi
(B) Brown Swiss
(C) Aseel

(D) Leghorn
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ges - §
SECTION - B

(srforg Sl us)

(Very Short Answer Type Questions)

31. uH T HX H THEAN @ 4 Wex/FFTS> Bl MY UKW W F 10 AFvS U qE
fpeit g @ B ? 2

A racing car has a uniform acceleration of 4 metre/ SecQ. What distance will it

cover in 10 sec. after start ?

32. fiygor ox Aiffe § & siax fofaw 2

Write two differences between Mixture and Compound.

33. oD WA & & aE Rafodr TRy 2
State any two conditions essential for good health.
qle -9
SECTION-C
(g STl o)

(Short Answer Type Questions)

34. (i) 9 Frdl B § T &0 H 91T SO 8, A A B FOT G O O 8 W B 2
() e & T F g e 1
(i) When a carpet is beaten with a stick, dust comes out of it. Explain.
(i) Write the Newton's Third Law of Motion.

35. fAwiiiad & TEmE g fafe 1x3=3
(i) FREE FAES
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37.
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(i) PR g

(iii) BTEG TCHIES

Write the chemical formulae of the following :

(i) Magnesium Chloride

(ii) Copper Nitrate

(iii) Hydrogen Sulphide

‘YR HIAHSA TN ‘S HIBAT F JeTT B 3

Make a comparison and write down ways in which 'plant cells' are different

from 'animal cells'.
Hug -7
SECTION-D
(S S us)

(Long Answer Type Questions)

() TF T@ 500 I faggd HoT 10 HvS § T HIA ol S T fhail & 7 2

(i) Frdl axg & Tiow S @ Ekn B ¢ RRdl a)g @ oS Sl @ g SR AE
ferfem 3

(i) A bulb consumes 500 J of electrical energy in 10 sec. What is its power ?

(ii) What is the kinetic energy of an object ? Write an expression and unit for

the kinetic energy of an object.

AYqT
OR

() 15 FIM ZWE # T a8 4 Hie/E0s & HEEH O § TS 5l a&] @
st Sttt BRt ? 2



(i)

(15)

(i) TH Reafasr Feit &1 el Hf

@)

T S 9o Sl 81 39 UhH B B aid ol Uiads! &l aui i)

What is the kinetic energy possessed by the object ?

(i)

Process.

(iii) Give an example of potential energy.

1405

An object of mass 15 kg is moving with a uniform velocity of 4 m/sec.

A battery lights a bulb. Describe the energy changes involved in the

38. fywiiiad ROl U T 1x5=5
16 32 16
24 12 12
11 11 12
17 18 17
27 13 13
Complete the following table :
Atomic Mass Number of Number of Number of
Number Number Protons Neutrons Electrons
16 32 16
24 12 12
11 11 12
17 18 17
27 13 13
P.T.O.
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39. (i) I W % Rafed fE sRY 2
(i) Fr=farted & 99 fod - 1x3=3
(a) Fa® S BAR X H J1 & HoF HCl &l
(b) TR SMEET Aieq d@ASH Habl
(c) ¥Ra= ¥ RId Sl

(i) Draw a labeled diagram of a Neuron.
(i) Name the following :
(@) Tissue that stores fat in our body.
(b) Connective tissue with a fluid matrix.
(c) Tissue present in the brain
AYqr
OR
dMl R % QS 9§ B SR ST ' 1| 5

Diagrammatically show the difference between the three types of Muscle
Fibres.
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